
Assembling and Installation Instruction

5th Avenue sets M

Page 1/9OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  



Spectacular and unique collection implemented in minimalistic and timeless shapes astonishing with widest
range of different uses, application areas and architectural settings.
5th Avenue is suitable for most stringent requirements in terms of design and hygiene, a stunning
hand-washing system for hotel and residential suites and public lavatories.
Perfect balance between practicality and pleasing aesthetics.

Follow the guidelines in this document to install the products correctly.
NB! Please note that some steps for installing and connecting the product can only be performed by
authorized and specially trained qualified personnel!
Draw a sketch of were and how you want to install your set Inspect the existing drain and supply tubing and
replace if necessary. Make sure all the pipes (water supply, drain, electric supply) will be in the right place and
height. Make sure that you can easily access later for servicing and maintenance!

5th Avenue sets M with Tondo mirrors

5th Avenue
set M50T

280-012-01

5th Avenue
set M60T

280-012-02

5th Avenue
set M80T

280-012-03

5th Avenue
set M90T

280-012-04

5th Avenue
set M120-2B

280-012-15

5th Avenue sets M with Belt mirrors

5th Avenue
set M50B

280-012-11

5th Avenue
set M60B

280-012-012

5th Avenue
set M80B

280-012-013

5th Avenue
set M90B

280-012-14

Page 2/9OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  

5th Avenue set M with
Ambi DUE mirror,

Ambi Quattro mirror

5th Avenue
set M120-2T

280-012-05

5th Avenue set M description



Page 3/9OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  

5th Avenue set M50T 5th Avenue set M60T 5th Avenue set M80T

5th Avenue set M90T 5th Avenue set M120-2T

Recommended installation dimensions



Page 4/9OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  

5th Avenue set M50B 5th Avenue set M60B 5th Avenue set M80B

5th Avenue set M90B 5th Avenue set M120-2B

Recommended installation dimensions



Page 5/9

5th Avenue
furniture M50

945-0507-01

5th Avenue
furniture M60

945-0607-01

5th Avenue
furniture M80

945-0807-01

5th Avenue
furniture M90

945-0907-01

5th Avenue
furniture M120

945-1207-01

Side frame left - 
1pc

Side frame right- 
1pc

Connection pipes -  
5 pcs

Mesh shelf - 1pc

Round head hex bolt
M6x30 - 10pcs

Round head hex bolt
M6x12 - 4pcs

Allen key 5mm - 
1pc

Hole plug - 16pc stoppers - 4pcs

Wall fixing set ׏ ٮȵƬ
(2 x dowel 8x40, 2 x screw 5x50)

Packing box 1 - side frames
¨acǸinǕ boɴ ٮ א ȅesh shelǔً connection pipe setً fiɴinǕ and asseȅblinǕ coȅponents

OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  

5th Avenue sets M frame sizes

5th Avenue set M frame include / frome components

Frame packaging consist of two packing boxes



Page 6/9

Please read these instructions carefully before installation

silicone

OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  

DANGER
��������������������

��������������������
����

Required tools for installation

1. When working at heights, please use a suitable platform to work from.

2. Please note: For new installations, check for any electrical cables or pipe work (gas/water) in the vicin-
ity of the intended mounting points of the supports before proceeding with the installation.

3. To avoid the risk of electrocution, please turn off the electricity supply mains before commencing the 
installation. Close the water valves near to area where the washbasin will be installed. 

4. Ensure that the mounting location can hold the weight of the complete product.

5. Wear suitable eyes protection when drilling.

6. Be carefull when using power tools near to the water.

7. Installation should be carried out by a qualified personnel only.

8. DO NOT use abrasive cleaning agents on any type of product surfaces.



Page 7/9

2 3

Round head
hex bolt M6x30

Hole plug

Stopper

Allen key 5mm

1

OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  

Allen key 5mm

Round head
hex bolt M6x12

Hole plug

Wall fixing set

Hole plugMesh shelf 

* - If you have a plinth along the wall that interferes with the installation of
     the frame, then the rear legs can be unscrewed..

*

Frame assembling 



Page 8/9OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  

silicone

24h

4

5

Washbasin installation on the frame

Tondo mirrors installation

Authorised
personnel only!

zone 240V



Page 9/9OÜ Eumar Santehnika       Maleva 2e, 11711, Tallinn, Estonia      phone: +372 60 50 530       eumardesign.com        sales@eumar.ee  

6

7

Mirrors Ambi due , Ambi quatro installation

Authorised
personnel only!

zone 240V

mirror back side

Authorised
personnel only!

zone 240V

Belt mirrors installation


	5th-avenue-washbasin-frame_sh7-9
	5th-avenue-washbasin-frame_sh8-9
	5th-avenue-washbasin-frame_sh9-9



